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1. < FRIUTAT T 3L ?

(1) SUSERTE (2) il
(3) drveTen (4) TSIl
2. R TEIET ot forawe ?
(1) s Tt fireareTes (2) ST D
(3) AT ARd AN (4) = Heseae
3.  USICIUehl ShIUTEN SIS WA 9765 shisd e el ?
(1) 31 (2) Teft
(3) hete (4) W
4 q 6 |TE I - YT FEITA e uiwss equl frvaret e snft ava s
Taia faet.
O & THTSTSHEATAT ANTerel shig 3T
(1) 3/9M (2) T
(3) g (4) =94
ST | A THIOT & et ST JATCAT 3TE,
(1) foerre (2) TR
(3) sras¥ (4) wAFRE
6. THIUT 3TSTE 80T fUdt faeam SRt A oo
(1) Scruierg fremelt e (2) NETdIRS femedt 3me
(3) GUERIRT FTel 3T (4) mefta gl oy
Space for Rough Work
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TREcTUh! ShTUTET UHTaTdier STeai=l STrel qamedt rar ?

(1) e - S (2) TS - TR
(3) Hreften - difea (4) 3T - TR
8. UdicTUeh! SRIUTET UATATdIeT JTeai=il Sirel fomegrelt Tegiet 3mme ?
(1) TrooT X U] (2) I X q
(3) o x A4 (4) A x =S
9. U AT VG @ATAT UehuT fohell TR ST 3TTRA ?
“ATEA WG STTETS ST SIS AU | | SO 2Tehett,
(1) IR (2) @
(3) 3 (4) T
10. U IREHEEIEADT A IR UATEiqA fast.
& foRan T o rffea -
(1) SFRETH (2) TR
(3) Hewweh (4) Senfen
11. STeHER d W= 31l Iid 3Teeh SISt Sie@l. (3796 ST 1 uata faeT)
(1) T S0 - W E Y IEal
(2) 3T O — HISAH W
(3) e A B - oA e 3w
(4) %3 U - GOrGOTol de] o
Space for Rough Work
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12.

13.

14.

15.

16.

HIEAEAT ATHATAA TeUT SNBEA T WU TN hIUTeT hHTehIdT R Taeard ‘T’
T FAATT 9163 TR Bl ?

(1) 496 (2) 592

(3) 396 (4) 492

TRt SRIUTET UaTHTeer FTSSTelt WHaTd Seareted Jui & STet Tat ?
(1) =S (2) STers

(3) =e=R (4) =@

YEITUh! UREY Helt STHUTRT 755 ShIUTaT ? ( 37eeh ST 34 uaia faer )
(1) =R (2) Taeaa

(3) = (4) @rer

TIiiqe TR A T 91s8 faret.

(1) (2) -TE=

(3) wred (4) e

YEcTient ShIUTT UIIATdiel THTE ST fasisur dreet 3y ? ( 31€eh STl 99 uaig
Higar)

(1) g (2) IO g
(3) WrEH 9 (4) & T
Space for Rough Work
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18.

19.

20.

21.

SRIUTCT FTeRT Sl W o fontt grasiet et ?

(1) @1 - Get (2) 9 - TS
(3) 7o - Faxdt (4) wfew - wfew
qe fEciean araaTdier reRfad yTeaTei fasert siea.
Tl 37T ATeTeld.

(1) =qeff (2) goH

(3) feiran (4) T
 SrET AT ST SavTa. AT STeRITET WA 3.
(1) vl (2) aTeReen el
(3) THH® W (4) 3THHS A
ST AT AR 35T,

"TE1 ghell, St W AT AN,

(1) Faa (2) fasz

(3) wIH (4) SR
3TYUT FAATERTEI STeRT TiiaA ast.

(1) ¥ Tequ eTEl Wod 3™
(2) T HESYU TS Wead 3T
(3) T TSI Tl Wead A

(4) T eI STST Wead

Space for Rough Work
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22. TESE WHTHETE SETEXUT T ?
(1) oFa (2) |q=H13
(3) o (4) Ja0r
23. WERTE THUTRT 0T HSET.
(1) T (2) TR
(3) ™ (4) AR
24. el I W1 HAATHTE AT AT ST HIUT ?
(1) M. 9. IR - THATR (2) TSHT TMes — T
(3) . . 3hes — TSR (4) 3feq gd - TR
25. ‘mifaRmst’ § UM o ?
(1) fa.an. RrErea (2) ¥.%. 3
(3) T. 7. TSR (4) . . T
Space for Rough Work
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Section 11

Mathematics

26. T 3Tk HIGATA HIST Hes AT 9 T 3okl eI TTaT He WAl Areat At
AT ST 9t fHafaears 32 ar g&@=r Ot faese ?

(1) 2 2) 3

(3) 4 (4) 6

27. ST HHIAR T TahT SR B3 T kW Shi-ioal SiSdid SITaehlen
TEHUT SATSAT9T OTR fehet ?

(1) 1:2 (2) 2:3
(3) 3:2 4) 2:5

28. 28 W ST AT W{d 37¢f AT THUT YghasT™ 14 AHT FIem sraeiesn
TS AT YSTReSIIT OTY fehet 2

(1) 2:1 (2) 4:3
(3) 3:4 4) 1:2
Space for Rough Work
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26.

27.

Section 11

Mathematics

Whose perfect square should be added to the sum of the greatest three digit prime
number and the smallest two digit prime number so that the resultant number is
perfect square of 32.

(1) 2 (2) 3

(3) 4 (4) 6

If a transversal intersects two parallel lines then find the ratio of the number of pairs

of alternate angles to the number of pairs of corresponding angles so formed

(1) 1:2 (2) 2:3
(3) 3:2 (4) 2:5
28. Find the ratio of the total surface area of the hemisphere with diameter 28 cm to
surface area of a sphere having radius 14 cm.
(1) 2:1 (2) 4:3
(3) 3:4 4) 1:2
Space for Rough Work
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29.

30.

31.

32.

e feTehsT 3 a8 aTueel Teh ST 9 729000 HUATH faahd odet. s
TETITET & TALIIN. 10 SAT o) e o 9 fehell Suama gaqe aid ?

(1) 900000 Rs. (2) 1000000 Rs.

(3) 800000 Rs. (4) 1200000 Rs.
@2 + 1) (& — 1) I TEUKEAT UTTERITET hiel fehet ?
(1) 1 2) 3

(3) 5 (4) 6

HE 9 fo=it IR % HE&AT JiT UTRRTE st o ST hiuTdr ?
(D1 (2) -1

(3) 0 4) -2

TehT ShIATe HIY ST YTk ShiATeaT A= {% Ue 3MME. X T hiATeAT
ThifeehTa | feRet ?

(1) 36° (2) 45°
(3) 54° (4) 60°
Space for Rough Work
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29.

30.

31.

32.

Sunil bought a 3 year old machine from Anil at a price of Rs. 7,29,000. Its value
decreases by 10 p.c.p.a. What was the price of the machine when Anil bought it ?

(1) Rs. 9,00,000 (2) Rs. 10,00,000

(3) Rs. 8,00,000 (4) Rs. 12,00,000

Write the degree of the product of the binomials. (2x* + 1) (x* —1)

(1) 1 2) 3

(3) 5 (4) 6

Find the additive inverse of the product of a number and its multiplicative inverse.
(1) 1 (2) -1

(3) 0 (4 -2

1
The measure of a given angle is 1 times that of its supplementary angle. Find the

measure of its complementary angle.

(1) 36° (2) 45°
(3) 540 (4) 60°
Space for Rough Work
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33.

34.

3S.

36.

IR 2000 TUITAT TSdET AET Sohd WIAT fade—Ta ST 1000 T 200
TUATAT 9IEET. S & TRUT TohH 16000 & Schd TG 3T ¥ &
TEIET ATt TehUT W& Tohelt ?

() s (2) 15

(3) 18 4) 21

1
EOE] _ gyt fepat 2
THTEI. 8 48000 = 1433(_41%0 12 dhdlc AT !

(1) 4475 . (2) 4265 .

(3) 4274 F. (4) 5914 F.
X2+ x — 72 T TN AT GreieTieh! hIoTd ?
(1) (x—8) (x+9) (2) (x+9) (x +8)
(3) x=8)(x-9) (4) (x-=9) (x+38)

L U2 %mv&ﬁwﬁwﬁawﬁnﬁrammﬁ@?ﬁﬂm

1572075’

fepett 2
1) 3 @ =
O @ 3

Space for Rough Work
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33. The number of notes of Rs. 2000 deposited in the bank by Amir is equal to the total
number of notes of Rs. 1000 and Rs. 200 deposited in the bank. The total amount
deposited in the bank was Rs. 16000. Find the total number of notes deposited in the
bank.

(1) 5 (2) 15
(3) 18 4) 21
1

34. Find the compound interest for Rs. 48,000 for 15 years at the rate of 8 p.c.p.a.
(1) Rs. 4475 (2) Rs. 4265
(3) Rs. 4274 (4) Rs. 5914

35. Which of the following are the factors of the polynomial x> + x — 72.

(1) x=8) (x+9) 2) x+9)(x+8)
3) x-8(x-9) (4 x=9) (x+8)

36. Find the difference between the greatest and the smallest rational numbers given
below.
o121z
15 20" 5" 25

1 A 2 el
M 5, @) 7
4 10 o2
3) 3 ) 3
Space for Rough Work
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37. TSNAWE 2 ANIA 15 fHAte et srar fafeeher @ aruaer G
ferett stotram s Bt ?
(1) 30° @ 2L
3) 82%0 ) 52%0
38. 452 Wi Als o 322 B STHATHT STl SHIST ST STTeN AN 11
T BT T 9aR Shedl. a8 &1 T AAhes fehdl dIHT 318 ?
(1) 4972 (2) 3542
(3) 16544 (4) 15544
39. 240 ToTex SaT=a FTAUT 8% TS YHIUT 3TE. 160 e L=t 1E0TH 15%
TS THTUT T8, T R4l S0t Uehd shell a¥ 1 faSTona Herg<r SehsTaHToT
ferett 3t8et ?
(1) 10.5 (2) 10.6
(3) 10.7 (4) 108
40. 16x* - 81 9 AT WAk hIUTA ? (AT 3T qaie faret )
(1) (4x+9) (4x-9) (2) (4x* +9) (4x* - 9)
(3) (4x2+9) (2x +3) (2x - 3) (4) (2x+3) (2x—3)
Space for Rough Work
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37.

38.

39.

40.

Find the measure of the anlge between the hour hand and minute hand of a clock at 15
minutes past 2.

0 1°
(1) 30 2) 222

1° 1°
(3) 825- (4) 525-

The length of a rectangular garden is 452 m and breadth is 322m. There is a 11m broad
road around this garden. Find the area of the road. in sq.m.

(1) 4972 (2) 3542

(3) 16544 (4) 15544

If 240 litre milk containing 8% fat is mixed with 160 litre milk containing 15% fat.
What will be the percentage of fat in the mixture.

(1) 10.5 (2) 10.6

(3) 10.7 (4) 10.8

Which of the following are the factors of 16x* — 81. [Select the correct alternatives]
(1) Ax+9)(4x-9) (2) (4x>+9) (4x*—-9)

(3) (4x2+9) (2x +3) 2x - 3) (4) (2x + 3% (2x - 3)

Space for Rough Work
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41, 32m2 = 6561 A m <t foRAa feRelt ?
(1) 2 (2) 3
(3) 4 4) 5
42. oAt SICETET 0T 2542 WY, 3 O &1 ST &5Tthes fehet ?
(1) 625 <. (2) 525 <.
(3) 825 TR, (4) 725 <R,
43. 44 T URTEET STECAT ARAT SAHE § 44 HHT TR ST aciearean
ATRaTe fadi= it 3/ e ?
(1) 33 S, (2) 32 S,
(3) 30 T, (4) 23 TrEHI,
44, Tafererel foRma 1. 20 7 TGS @Y . 10 7 HHT FTEAT T AT 1. A€
3terar ue fenedt ATt ?
(1) 8%%2 2) 8% @
(3) 7% (4) 7% TS
45, W2 - 22y o o fepmm el 2
(1) 5 (2) -3
(3) 3 4) 9
Space for Rough Work
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41.

42.

43.

44.

Find the value of m if 32™2 — 561

(1) 2 (2) 3
(3) 4 4 5

The diagonal of a square is 2542 cm. Find the area of the square.
(1) 625 cm? (2) 525 cm?

(3) 825 cm? (4) 725 cm?

How much less is the area of a square whose perimeter is 44 cm. than the area of a
circle whose circumference is 44 cm.

(1) 33 cm? (2) 32 cm?

(3) 30 cm? (4) 23 cm?

Due to 20% increase in the price of a ticket, the sale was decreased by 10%. Find by
how much percentage the income was increased or decreased ?

(1) 8% decrease (2) 8% increase
(3) 7% decrease (4) 7% increase
x+3 4x-2
45. If = . Then find ‘x°.
4 9
(1) 5 2) -3
(3)3 49
Space for Rough Work
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46.

47.

48.

49.

50.

590 (I ) T ek Feohelial ded ATue 11 o 9RT ST 91 ekl et
ST et 2

(1) 16060 (2) 21210
(3) 56760 (4) 27720

TehRT SHAT FTehRET S 1.4 HIZT A S T TEAT Tehl ITTUTEA FEAT
IR STTUATHIST T AR 20000 T B ITEATA T TG dqered 3T
ferell 3T@E ? (3 37k Uiy faeT)

(1) 88 ferrt (2) 44 ferrt
(3) 88000 HeX (4) 44000 T

TehT gt MMRRT=A fate ST S 14 WieT 3 ®ret St 10 Hie
3TME O T TehiAe feelt wiieT uToft wreret ?

(1) 154000 (2) 1540000

(3) 2540000 (4) 3540000

1
THLZIN. 122 T 15000 & THAET fehet ool THGHE WA ?

(1) 68 2) 78

(3) 8 ) 129

4> + 9b* + 25¢ — 12ab — 30bc + 20ac T IS AT WU ThIUTd ?
(1) 2Qa+3b+5¢c)(2a+3b+ 5¢c) (2) (2a—-3b+5¢) (2a—3b + 5¢)

(3) (2a +3b—5¢) 2a + 3b - 5¢) (4) (2a—3b—5¢) (2a—3b - 5¢)

Space for Rough Work
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46.

47.

48.

49.

50.

Find the sum of all four digit numbers formed by using the digits 0, and 5, repeating
any number of times in the number.

(1) 16060 (2) 21210
(3) 56760 (4) 27720

A bus has wheels of diameter 1.4m. Travelling from one town to other, the wheels com-
plete 20,000 rotations. Find the distance covered by the bus. [Select two correct alter-
natives|

(1) 88km (2) 44km
(3) 88000 m (4) 44000 m

How much water will a cylindrical tank contain if its height is 10 m and diameter is
14m.

(1) 154000 litres (2) 1540000 Ilitres

(3) 2540000 litres (4) 3540000 litres.

1
In how many years will Rs. 15000 will be doubled at the rate of 125 p.c.p.a.?

(1) 6 years (2) 7 years
(3) 8years (4) 12 years
Which of the following are the factors of the polynomial.

4a” +9b”* + 25¢> —12ab — 30bc + 20ac

(1) 2Qa+3b+5¢c)(2a+3b+ 5¢) (2) (2a—3b+5c) (2a—3b + 5¢)
(3) (2a+3b—5¢) (2a +3b — 5¢) (4) (2a —3b-5¢) (2a - 3b — 5¢)
Space for Rough Work
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51.

52.

53.

54.

5S.

T ekl T TS WAL, 14 WA &iwT A4, 490 3. W &M A
T ST fodt ?

(1) 140 (2) 147
(3) 168 (4) 182

TRl AT AT ShUT 24 HH o 32 i TS 3718 oF & A Aehrret
affardt feredt ?

(1) 40 |t (2) 80 Tt
(3) 100 &t (4) 120 9

TRt SfYeRTal SMTeRRT=aT STeRI= SIell 60 TWT; BT 18 AT T St 15 AWt
3TTE. 3T SATFEHL 6 HHT TS 3T fehelt TATRR Ao WIadtet ?

(1) 55 (2) 60
(3) 65 4) 75

faarm Tk TSTe 6540 TUITE AR TSI 3460 BUAH TRE hed o o
A4 TSATS M 10,900 TUAT feehett O TAT AT STEGRTA AT 7T
JrareT el ATeT ?

(1) . 8 7TH 2) 3. A
(3) J. 9T @) . 9T
O .

(44> + 6ab + 9b%) (2a — 3b)

(1) 8a° +27h° (2) 274* - 8b°
(3) 27a* — 81 (4) 84 —27b°
Space for Rough Work
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51.

52.

53.

54.

H.C.F of two digit two numbers is 14 and L.C.M. is 490. Find the sum of those two
numbers.

(1) 140 (2) 147
(3) 168 (4) 182

The diagonals of a rhombus are 24 cm and 32 cm. Find the perimeter of the rhombus.
(1) 40 cm (2) 80 cm

(3) 100 cm (4) 120 cm

A cuboid box has length 60 cm breadth 18 cm and height 15 cm. How many cabical
boxes having each side 6 cm. will be contained in the box.

(1) 55 (2) 60
(3) 65 4) 75

Vikas purchased a watch for Rs. 6540 and another one for Rs. 3460. Both the watches
were sold for Rs. 10,900. What was the profit percent or loss percent in this
transaction?

(1) 8% profit (2) 8% loss
(3) 9% loss (4) 9% profit
55. Multiply.
(4’ + 6ab + 9b*) (2a — 3b)
(1) 8a° +27b° (2) 274° - 8b°
(3) 274> - 8p° (4) 84 —27b°
Space for Rough Work
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56.

=)

57.

58.

59.

60.

324389 = Temett ?
(1) 19 (2) 29
(3) 39 (4) 27

TR g IMERTATT 26 TG 2016 UM 21 TTE 2016 T AREUHT SIS
g feret o uad. ST W 47 %. Tee gran. @ =i Tt fehdl $ud gam
S TR et ?

(1) 2632 %. (2) 3948 .

(3) 3878 %. (4) 3949 %.

TSeT=AT 3MTehelld TETd = SFHOUTRT <hI SHIUTAT ? § UFiang faer.
F\if;\f\/;\ .

(1) mZACB (2) mZADB

(3) mZCEB (4) mZBFA

T HETer firerdehre shras fafsrar 9. 1 Rire S ke, < frerdanry
65000 TUATE HTUS TWRE hedl T ¥ e fehet fae e ?

(1) 6564% (2) 7475%
(3) 8485% (4) 6465

25x2 + 49y & WM YUt ot QUATHTST ettt shivTd U fiesard. (2 e
e faeT)

(1) 35xy (2) =70 xy
(3) 70 xy (4) 35 xy
Space for Rough Work
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56.

57.

58.

59.

3/24389 = How much
(1) 19 (2) 29
3) 39 4) 27

Shamrao purchased one and half litres milk everyday from 26th January 2016 to 21st
March, 2016 from Ramrao. The rate of milk was Rs. 47 per litre. Find the amount of
the bill that shamrao paid to Ramrao for the milk.

(1) Rs. 2632 (2) Rs. 3948
(3) Rs. 3878 (4) Rs. 3949

Observe the given figure and find the odd term.

(1) m ZACB (2) m ZADB

(3) m ZCEB (4) m ZBFA

Khadi Gramodyog mandal declared rebate of 11%% on sale of cloth. A customer

purchased cloth worth Rs. 65000. Find the amount of rebate that the customer
will received.

(1) Rs. 6564 (2) Rs. 7475
(3) Rs. 8485 (4) Rs. 6465
60. Which term shoud be added to 25x* + 49)” so that the sum will be a perfect square.
(Choose two correct alternatives)
(1) 35xy (2) =70 xy
3) 70 xy (4) 35 xy
Space for Rough Work
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61. W& .
65 . 104 56
77 99 45
() 1 (2) 0
2 2
(3) £ “4) =
62. TRt STeTadaehdl SR URTHAT 180 WY T X &I SN &k fohel ?
(1) 3850 <t (2) 3350 At
(3) 2250 <t (4) 1925 <t
63. 60 WY TE, 40 HeX ®F T 5 Wit Wt 3TN WSSATAA higeiett At 1
fortit, &fia @ 24 e ©E WA @At aF ferddt SIS AT o) d9R)
A5t ?
(1) 50 & 2) 5
(3) 0.5 4) 1.5
64. TERTETT 13 Toaeat g 3250 . Ulafeded WA 9 23 foaes Wamai= 4350 ©.
yfafaeed S TanT 3TSd ST faehe! Smum=m el o, 3 <0 31Sd
TRt o AT feret WU faesdier ?
(1) 138031 &. (2) 138033 &.
(3) 138181 &. (4) 138432 &.
Space for Rough Work
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61.

62.

63.

64.

Simplify

65 104 _ 56

77 99 45

(D 1 (2) 0
2 o 2
3) 3 @) -

The perimeter of a semi-circular garden is 180 m. Find the area of the garden
(1) 3850 sq.m. (2) 3350 sq.m.
(3) 2250 sq.m. (4) 1925 sq.m.

A pit 60m long, 40 m wide and 5 m. deep was dug and the soil was spread evenly over a
road of length 1 km. and breadth 24 m. What was the thickness of the soil spread ?

(1) 50 cm (2) 5cm
(3) 0.5m (4) 1.5m

Ramrao sold 13 quintals wheat at Rs. 3250 per quintal and 23 quintals soyabean at
Rs.4350 per quintal through a commission agent 3% commission was paid. Find the
amount that Ramrao will receive:

(1) Rs. 1,38,031 (2) Rs.1,38,033
(3) Rs. 1,38,181 (4) Rs. 1,38,432
Space for Rough Work
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2017 x 2017 = 2015 x 2015 _ ferelt 7 (2t 3reres wate fraer)

4032
(1) 2017 x 2015 ) 2
(3) 2017 x 2015 4) Ja

66. x oy (x &y AT THAATT A< )
IR x = 35 AT y = 14 T WeATeTUh! T THIHTUT SHIUTd ?
(1) 2x=5y (2) 2y =5x
(3) 2x+5y=0 (4) 2y—5x=0
67. USRI RIS TAERIUTIEAT ShIehl™ ShUUTI STST= Giiall 5 WHT. & 12 THT 3T
X I Frentumre uRaderst e fadr 2
(1) 6.5 (2) 7.5 9w
(3) 8.5 9w (4) 5.5 9w
68. WehT TFTShdI WShHUT YSHes 384 TGN ST, X T IS TIthas fehell ?
(1) 512 =& (2) 343 T
(3) 0.512 SHI (4) 0.343 S
69. (4x?—9x +7)+ (2 + 5y — 1) - (5x* — 4x + 5) = Tewell 2 (AT 31Tk v FareT)
(1 1 2) P2+3x-2
(3) 2x*—2x+5 (4) 2°
Space for Rough Work
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65.

66.

2017 %2017 -2015x%2015

Solve: 4032 = How much ? (Select two correct alternatives)
(1) V2017 x 2015 (2) 2
(3) 2017 x 2015 4) /4

x o y (x varies directrly with y ) If x = 35, and y = 14, then find which of the following
is the equation of variation ?

(1) 2x=15y (2) 2y=>5x

(3) 2x+5y=0 (4) 2y —5x=0

67. The sides forming the right angle of a right angled triangle are 5 cm. and 12 cm. Find
the radius of the circumcircle of the triangle.
(1) 6.5cm (2) 7.5cm
(3) 85cm (4) 5.5cm
68. Total surface area of a cube is 384cm?. Find the volume of that cube.
(1) 512 cu.cm (2) 343 cu.cm
(3) 0.512 cu.m (4) 0.343 cu.m.
69. Ux?-9x+7)+(x*+5x-1)-(5x*—4x + 5) = How much ? (Select two correct
alternatives.)
(1) 1 2) x¥*+3x-2
(3) 2x*-2x+5 (4) 2°
Space for Rough Work
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70. TeRT aTidIeT 41 faameat=an o=t TEd 13.5 I9 1F. STHE =T a4
FitvTereRie a9 fHesfacara = Haiean aart it ¢ Afe=rt aed. av
TR o fehdt 318w ?

(1) 43 6 Higw (2) 347 6 HiE
(3) 357 6 Higw (4) 36 6 A
71. ST GHYST FERIOT=N &S] 12 9T 318 & o= wesst fohdr ?
(1) 43 et (2) JJag T
(3) 643 T (4) Jiog &t

72. WS ATehdlid U AT PQRS WEA &S] PQ || STS] SR 31T, STST= HIY
3Tl YTETIEH ST, a¢ THAS SehT &thes fehel ?

P HTH ——

! X
/ 5] N\

L<sh I Py A——
1 (PQ) =47 |t
1(SP)=13 |t
[ (MR) =52
1(SM) =5t
(1) 624 <t (2) 524 <Y
(3) 6.24 <t (4) 5.24 <
Space for Rough Work
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70.

71.

72.

In a class the average age of 41 students was 13.5 years. If the age of the class-teacher is
added to the total ages of the students, then the average age increases by 6 months. Find
the age of the class teacher.

(1) 43 years 6 months (2) 34 years 6 months
(3) 35 years 6 months (4) 36 years 6 months

Find the perpendicular height of an equilateral triangle whose side is 12 cm.

(1) 4+/3 cm. (2) /48 cm.
(3) 63 cm. (4) /108 cm.

In the above trapezium PQRS side PQ 11 side SR. The measurements of the sides are
given in the figure. observe the figure and find the area of the trapezium.

P HTH ——
:
1, N R
S s DY
I (PQ) = 47 m.
I (SP) =13 m.
I(MR) =52 m.
1(SM) =5 m.
(1) 624 m? (2) 524 m?
(3) 6.24 m? (4) 524 m?
Space for Rough Work
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T.73 ° 75 QST AT
TARTETT 2011 A 2015 ATATIHT AT Ieiq TUehfaciean Sawt o e
IATEATAT SNSHHTAE Tt Wifaerer 3. & e ot 9 «maret
feerean ggAET S uHiae et

o
Jaai Y. o 1300 - 1o e
B2 T T

;@%’M

{E i | = il j
if wn
r " g - /
~— L 7 %
z =7
ch g -7 Z
z Z . Z
- bl / %
. BN BR
lf!j 2011 2012 2005 2014 o1 <3

73. SR GOE Sared fardr ?
(1) 72 foeea @) 75 fmea ) feea @) 79 faaea
74. SHIUTET 61 SO o TR SATST THE o Halid SIEd 378 ?

(1) 2012 (2) 2013 (3) 2014 (4) 2015
75. 2012 | TR 3ATET SARIAT AT fehdt foaee st 311g ?
(1) 10 2) 15 (3) 20 (4) 25
Space for Rough Work

0111 -A 30 of 32 P.T.O.




Q.73 to 75 Directions

The quantity of Jowar and Wheat produced by Ramrao from the year 2011 to 2015 is
shown below in the joint bar graph. Observe it and select the correct alternative to
answer the questions given below.

"VoAxis e Pr(;ertion
’ Y-Axis 1'cm = 10 Quintal
D Production of Jowar
Production of Wheat
- |
3 jod
)
'% 7
o /
2P Z Z
é & = ﬁ -
£ ?
o Z
I ﬁ X-Axis
= 2011 2012 2015
A RN e ————— ==
73. What is the average production of Jowar ?
(1) 72 quintal (2) 75 quintal (3) 77 quintal (4) 79 quintal
74. In which year was the yield of Jowar and wheat was equal and the highest ?
(1) 2012 (2) 2013 (3) 2014 (4) 2015
75. In the year 2012, how much less was the yield of wheat than jowar in quintals ?
(1) 10 (2) 15 3) 20 4) 25

Space for Rough Work
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